Production Distribution System
Assignment Problems
Question1: For a Production Distribution System Initial Inventory is 400 units,
Initial Order Backlog is 800 units Cover or Weeks of sales required is 4 weeks,
Averaging time (ST) is 2 weeks, Time to adjust required backlog is 4 weeks, Time
to adjust inventory is 10 weeks, Time to adjust backlog is 4 weeks and dt = 0.05,
Sales rate is 0.05 and Average Sales Rate at 0.95 is 102. Calculate the following:
1.Delivery Rate from factory (DFF)
2. Production Order Rate (POR)
3. Discount (DISC)
4. Desired Inventory (DINV)
5. Required Backlog (RBL)
Answer:
Here INV = 400
OBL = 800
Cover = 4 weeks
ST= 2 weeks
TMRBL = 4 weeks
TAI = 10 weeks
SR = 135
ASR(.95) = 102
ASR(t) = (1-dt/ST)*ASR(t-dt) + (dt/st)*SR
ASR(Initial) = (1-.05/2)*102 + (.05/2)*135 = 102.8
DINV(Initial Desired Inventory) = ASR*Cover = 102.8*4 = 411.2
DISC = DINV-INV = 411.2-400 = 11.2
POR = ASR + (DISC/TAI) = 102.8+(11.2/10) = 103.9
RBL = POR*TMRBL = 103.9*4 = 415.6
DFF = (OBL-RBL)/TABL = (800-415.9)*4 = 96.03
